Clkar‘&r ¢ ALS.I.\‘,-H- Vo-(u.l—_ ik,e,‘_\ue,tﬂ‘v, oundl I’T“{-‘ L_‘j Conen -

Dﬂi Fov a.w:] ® £IE, 'HM— o‘oso lw“& \/«‘we_ D-r

% I Jive~ L\lj lll - { x i x=o

X of x<o.

I»\Mh:w l?cl W e crrtnnes ‘H’Lﬂ— aas{'a_uu -From % {-\, O

P

Thewem Lot 3oy 2R, Thew

Q) lxyl =[xl ly]

@ lxtyl =zl tly)l  (ealled Ao triaml megualiy )

@ lx-yls x4yl i
Iyl

P\rm ° [}
{ 4 Q LUa, Iwo(,aa.ot L\LJ Cann .
C.Ol»-ib'&w 'ﬂnw coge WL\.G-\» wx 20 auwd Yy=>o. T(f\-‘—w

15 >0 Gw»ﬂ. >(_=')1,\ A_.u(, }7:‘3‘ ’_ﬂ'u”e;‘nu,

|2yl =2y = | xllyl .
l\)ew‘l’ Considew e cone when 2 <o and  Y<o . Tl
’.)cy > o ool -x =[xl omd, -y -‘-1111- Ttwn’[;q_

(xyl= >y = »ey) = |xllyl.



Tlan'rat, we &owﬂ)&e.l/ '“'u, Cea Lt/L\ﬂ.u. X <o Q_V\DL y>o.

Tl sy <e, —x=lxt, ek y=lyl Tl
l?.,yl = —xy=(CEx)y) = [xllyl.

;l"\-u“j we M’“"-& +LL¢,+ '}L\L caort ullm.w p g M-L

joo oAb seme o A el e

"l&u. cye JIovme ‘va',o V‘bslu a—Lou-i iwcf’kau+i~84

we SLuulﬂ klﬂ-ow &ul e ]Li'c.e,‘,j

Ffi Let <.b,czlR

O f asbk wd bsc, the axe
@ F b, dlen ~tc< bie

G f @b aud C20, {le.. ac < be
) FJ ascb, the -e«=z-b.

(s ‘_z{— azo.  Tleu ‘nlsq, Foand »ul:.] ff -a<xeq.

P\r%\"’ 6" @ g\,‘_‘,]’,‘b I’Ll <a . W@ Clinn ‘h: gL\oL,/ e Sx<a.

ComsiLr ’N.q_ Come L‘/LO/\W aU = o. TLJ—V\,

12|

IN



TL\LM:_‘Fora_ —a < ‘1'_(_@.

‘\-’Qx.-\-/ with ﬂNb Cune wLu * < o, we wa

- = lx,l < o, which ,\MFL,‘M

M°"4— sverf ,

€ oSa.

TL\.\.\/\ —a<x <a I~ Jou"L Cryenr -

N ow (wmoos.. “a <3k Sa. We  wow sbow  |xlea

c\jmw l’wmlﬂj LU Covped, f"‘"l"’l—(— X 20 7Lu_k
N-tee oy

Next fuppese k<o

a>-nz=|al. TLuw,{-nu |1'$°L "

[\ = X sa:
l.vwfl"‘“’

-« < x

botl. cann-

Problem 2. Sometimes it is useful to use the old trick of adding zero: for any real numbers = and
a we have = £ + a — a. Use this trick along with the triangle inequality to prove that if z € R

and if [z — 3| < 1 then [z - 9| < 7.
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Problem 3. Let z € R. Prove that if |z + 1| < 2 then |(z + 1)(z® — 2)| < 58.
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Problem 4. Express the following sets as open or closed intervals using interval notation.

a {zeR:|z[ <5}
b {zeR: [z <1}
c {zeR:|z—1] <3}
d {zeR:|z+2 <8}
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